<i @ @ ‘ YETBIPE 3HAKA MOCJIE 3AISTOM, TIOPSIOK OTEPALHMiA CO
CKOOKaMH

Nwms: Hara:_ Omenka:
5,6+6,2(6,2+2,7)= 3,7-2,92,3—-3,3) =

30(2,4+5,2)+ 6= 4,8+2,4)x2,2+3,1=
(5,9+5,1)x6,7-4,9= 5,7+2,1(6,3—6,2)=
4,6+2,6(6,7—4,4)= 30(6,8 —5,1)~ 6=

104+ 5,7)+5= 154+ 5,8)+3 =
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<i @ @ ‘ YETBIPE 3HAKA MOCJIE 3AISTOM, TIOPSIOK OTEPALHMiA CO
CKOOKaMH

Nwms: Hara:_ Omenka:
5,6 +6,2(6,2+2,7)=60.78 3,7-2,9(2,3—-3,3)=6.6
30(2,4 +5,2)+~6=38 (4,8+2,4)x2,2+3,1=189%4
(5,9+5,1)x6,7—4,9=168.8 5,7+2,1(6,3—6,2) =591
4,6+2,6(6,7—4,4)=10.58 30(6,8 —5,1)+~6=28.5
104+5,7)+~5=194 154+ 5,8)+3 =49
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